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(284 EE) (B A1)
EER B LERFRE(A) RI4EEERE(B) #B(A)-(B)
SEINE [ 7,507,784 1|[ 7,570,485 ][ A 62,701 ]
— RS E N 7,507,784 7,570,485 A 62,701
FtE IR [ 1,867,272 1|[ 1,800,776 1|[ 66,496 ]
EHhtE U 1,867,272 1,800,776 66,496
REREMBSIE [ 53,102,947 1|[ 55,543,608 ] |[ A 2,440,661 ]
X BT #1 B & UREE 45,078,947 47,512,608 A 2,433,661
gy | RALREN & U AR 260,000 260,000 0
HEAZEHE D T UINE 7,764,000 7,771,000 A 7,000
ZEEEUNE [ 34,356,139 1|[ 32,472,771 1{[ 1,883,368 ]
TRETA ZEEINE 31,269,829 29,936,061 1,333,768
FERT R RS UNE 3,086,310 2,536,710 549,600
FEINE [ 2,451,297 1|[ 2,558,145 1|[ A 106,848 ]
SME NI 0 24,400 A 24,400
FIAFHIREE 1,764,650 1,826,930 A 62,280
L& FHIREE 75,000 120,000 A 45,000
& FHFUREE 518,647 479,315 39,332
RERETREERESINE 93,000 107,500 A 14500
BEEINE [ 44,000 ][ 41,000 ][ 3,000 ]
BEE U 44,000 41,000 3,000
ZD DU [ 70,045 1|[ 1,744,773 11[ A 1,674,728 ]
Z DD IR EE 70,045 1,744,773 A 1,674,728
H—E REEIUREEET() 99,399,484 101,731,558 A 2332074
ANGE [ 62,123,580 ][ 64,409,837 ][ A 2,286,257 ]
& B HREN 600,000 600,000 0
BEHAH 40,328,642 38,957,950 1,370,692
BEES 8,075,012 9,540,551 A 1,465,539
FEEEHBEHRE 3,242,350 4,623,645 A 1,381,295
BREA(TE R 2,336,280 3,152,389 A 816,109
EERHE 7,541,296 7,535,302 5,994
EXE [ 23,421,570 11|[ 24,249,752 11|[ A 828,182 ]
WREXEE 1,372,682 1,232,992 139,690
NGEY N 285,474 362,059 A 76,585
KERBE 1,468,545 1,525,362 A 56,817
HERERSE 900,105 2,014,584 A 1,114,479
s 134,136 141,696 A 7,560
BIEERE 1,408,015 1,264,268 143,747
SEE 52,700 43,200 9,500
L3E 1,990,656 1,986,606 4,050
B X%ERE 10,550,009 10,372,217 177,792
FHH 743,761 83,972 659,789
RiEH 282,650 281,874 776
EEH 1,477,822 1,812,147 A 334,325
HimE 149,575 125,495 24,080
RO 612,400 617,900 A 5500
BiEE 1,028,000 1,473,000 A 445,000
Bk 965,040 912,380 52,660
EKE [ 5,804,212 1|[ 4943144 1|[ 861,068 ]
EIELE 162,928 197,325 A 34,397
BEWRE 0 100,440 A 100,440
WREXEE 191,431 115,870 75,561
HEMRE 45536 58,000 A 12,464
ERHEHERE 270,278 344511 A 74,233
KERBE 155,758 191,813 A 36,055
s 0 54,706 A 54,706
BIEERE 247,855 294,334 A 46,479
SEE 52,128 3,240 48,888
A £BZRE 849,300 725,000 124,300
FHH 228,944 198,506 30,438
RiEH 497,472 472,315 25,157
EEH 2,445,160 1,646,944 798,216
HiRE 163,112 167,140 A 4028
TR OEE 40,100 30,500 9,600
HNE 35,210 62,500 A 27,290
ERE 419,000 280,000 139,000
& ER [ 3,963,000 ][ 3,086,000 1|[ 877,000 ]
B EER 3,963,000 3,086,000 877,000
BiESER [ 522,000 1|[ 2,087,000 1|[ A 1,565,000 ]
EHEER 522,000 2,087,000 A 1,565,000
RARENE [ 880,896 1|[ 899,671 1|[ A 18,775 ]
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(284 EE) (B A1)
LEFREA) RI4EEERE(B) ¥&ER(A)-(B)
RIEEINE 880,896 899,671 A 18,775
ZDHDER [ 01|l 101,080 ] A 101,080 ]
ZDHDER 0 101,080 A 101,080
H—E REEE AE2) 96,715,258 99,776,484 A 3,061,226
H—E REENE R ZEFE(3)=(1)~(2) 2,684,226 1,955,074 729,152
+ SHF B L £ INE [ 44504 1[[ 44,502 ] 2]
BRI R e 44,504 44,502 2
"
g i H—E RiEESHIREEET(4) 44,504 44,502 2
E THFER [ 01|l 977 1] A 977 ]
o E | ZHIFE 0 977 A 977
#
| B\
2] H—EREEFNEREG) 0 977 A 977
& H—E R EE S E B EEE6)=(4)-(5) 44,504 43525 979
e R EEE(7)=(3)+(6) 2,728,730 1,998,599 730,131
[E 7€ & B S H5%E [ 01|l 1,250,000 ] A 1,250,000 ]
B | gy | EEERE 2R 0 1,250,000 A 1,250,000
FERXOHEBEAEING [ 2,723,000 1|[ 3,912,000 ] A 1,189,000 ]
Al BERNHERASING 2,723,000 3,912,000 A 1,189,000
2 H—ERXR S ERA I [ 13,333,313 1|[ 0] 13,333,313 ]
# HY—EXXR S BEALINE 13,333,313 0 13,333,313
AR EH(8) 16,056,313 5,162,000 10,894,313
i FERNHEEAESER [ 2,723,000 1][[ 3,912,000 ] A 1,189,000 ]
£ BERNEBRAESER 2,723,000 3,912,000 A 1,189,000
» H—ERRSERALSER [ 13,333,313 1|[ 0] 13,333,313 ]
B LY ERRSMBRASFER 13,333,313 0 13,333,313
B F 7 & FETH9) 16,056,313 3,912,000 12,144,313
F I Z=58(10)=(8)-(9) 0 1,250,000 A 1,250,000
oAl S EEENE R EEE(11)=(7)+(10) 2,728,730 3,248,599 A 519,869
EARL ERBREUVEER02) 0 0 0
EANTREEEEA(13) 0 0 0
LR SE B I EEE(14)=(11)-(12)-(13) 2,728,730 3,248,599 A 519,869
@ BIER IR E B R = A (15) 19,563,454 16,314,855 3,248,599
5 = AR R L B 1R 2 2B (16)=(14)+(15) 22,292,184 19,563,454 2,728,730
- HEALEHAZE(17) 0 0 0
! HEENEAZA(18) 0 0 0
L)) Z OO L 2 (19 0 0 0
#® ZFRMDIBEILEIEIEE(20) 0 0 0
iR FRHDBEILESIBEIEE(21) 0 0 0
= AR E B AR 2 2B (21)=(16)+(17)+(18)+(19)-(20) 22,292,184 19,563,454 2,728,730
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